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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt all questions.

Part of the question to be attempted together.

All questions carry equal marks.
Use of a simple calculator allowed.

Answers may be written either in English or Hindj.
but the same medium should be used throughoyt thej
paper.
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(a) “Financial management has expanded its scope
during the last few decades”. Elaborate. (9)

(b) Why is profit maximization not an operationally
feasible criterion? What exactly does it mean to
maximize shareholder wealth? 9)

Or

- (a) Explain the agency conflict between the manager
and the shareholders. How does the goal of wealth
maximization resolve this conflict? 9)
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(0) “Financial accounting and financial management
may be different in (heir primary focuses but
ultimately have o complementary role to play in
the decision=making process of a firm.” Flucidate.

(9)
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2. (a) “Individuals do have a time preference for
money”. State the reasons for such Preference

9)

P.T,O.
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(b) XYZ Ltd. issues 10,000, 10% debentures of 21000

cach issued at a premium of 10% with a 5 year
maturity. The debenture will be redeemed at par

on maturity. Compute the cost of debentures

assuming a tax rate of 35%. (9)
Or

(a) Ms. Sunita has opened a Fixed Deposit account in
Canara Bank that provides a return of 8% p.a.
compounded annually. Ms. Sunita wishes to
withdraw ¥8,000 five years from now and 15,000
nine years from now. How much amount should
Ms. Sunita deposit in year 0 that will produce
these future payments? [PVIFg, . = 0.681;
PVAF,, s = 3.993; PVIF, , = 0.500; PVAF,, , =
6.247; PVIF,, ,, = 0.340] 9

(b) Explain the concept of Weighted Average Cost of
Capital. Also explains the concept of book value

and market value weights in cost of capital.

9)
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PVIF,, ,, = 0.340]
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Siyaram Silk Mills Ltd. is planning to instal] g new

machine costing ¥14,00,000 with an installatiop Cost
0f 1,00,000 and a salvage value of ¥1,00,000 after 5
years of life. The purchase of machinery will regy in
an increase in working capital by ¥15,000,

P.T.0.
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The following information g available
N resp

the machine : f

Annual Production: 1,00,000 units for
increase by 10,000 units p,

preceding year production fo

Year 1 ang o
d-over the imp

Cdiat
t the next 4 vear ¢

S.

Selling Price: Y15 per unit Variable Cost: 7

10 ;
Fixed Cost: ¥2,00,000 p.a, Per unj

Tax rate: 30%
Depreciation: 20% on Written Down Value

Find out the initial, subsequent, and terminal cash floys
from the machine. (Ignore tax on capital gain/logs)

(18)
Or

(2) Contrast IRR method with NPV method. Why
might these two techniques lead to conflict in
project ranking? | )

(b) What do we mean by cost of capital? What ar¢
)

its components?
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4. (a) Why is dividend policy important for g firm? Also
. . ] ’
discuss the various determinants of

a dividend
policy in a company,

(9)

(b) ABC Ltd. has earnings per share of 20 with an
internal rate of returq of 15%. The risk
capitalization rate is 12,59, Using W

alter’s model,
what should be the price at a p

| ayout ratio of 0%
(11) How the share price be affected with the

change in payout ratio to 20% and 80%? Also,
interpret the results. 9)

Or

(a) Explain the various dividend policies in practice.

' ek 9)

(b) The following information is available with respect
to Alpha Ltd.

Earnings Per Share 310
Cost of capital 10%
Rate of return 15%

Using Gordon’s model, find out the market price
of the share if the dividend payout ratio is -

i) 50%
(i) 60%
(ifi) 70% ¥
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(i) 50%
(i) 60%
(iii) 70%
P.T.O.
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(9)
(» From the following data,

compute the duration of
the operating cycle

lor the two years and briefly
comment upon it,

Particulars Year | Year2 |

Average Stock of raw material 40,000 54,000
Average Stock of Work In-progress 28,000 36,000
Average Stock of finished goods 42,000 48,000

Purchases 1,92,000 2,70,000

Cost of Goods Sold 2,380,000 3,60,000

Sales 3,20,000 4,00,000

Avcrage Debtors 64,000 1,00,000
Average Creditors 32,000 36,000

Assume 360 days per ycar for computational

%)
purposes.

Or

are the competing goals

Y “Liauidity and profitability
(a) “Liquidity and p —— 9)

o |
for the financial manager.
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) 1TC Ltd. is having an expected EBIT of Rs. 5,00,000
. with k. = 10%. Using the Net Income approach,
you are requested to compute the overall cost of
. al and value of a firm if firm holds 6% debt

capit
| of Rs. 12,50,000. @)
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LERI I L 1,92,000 2,70,000
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